
EG060−3A D65

Wellenlänge λ /nm
400 500 600 700

D65

0,0

   

1,0

   

2,0

HPE_CIE02-Zapfen-Empfindlichkeit  y−max(λ)=1
s−02,1(λ)=B31x

−
02,1(λ)+B32y

−
02,1(λ)+B33z

−
02,1(λ)

B3j 0,000 0,000 1,000 (λ~445)
D65: Σs−02,1(λ)=22,56

x02,1=0,3126 y02,1=0,3289



EG060−3A D50

Wellenlänge λ /nm
400 500 600 700

D50

0,0

   

1,0

   

2,0

HPE_CIE02-Zapfen-Empfindlichkeit  y−max(λ)=1
s−02,1(λ)=B31x

−
02,1(λ)+B32y

−
02,1(λ)+B33z

−
02,1(λ)

B3j 0,000 0,000 1,000 (λ~445)
D50: Σs−02,1(λ)=17,12

x02,1=0,3456 y02,1=0,3584



EG060−3A P45

Wellenlänge λ /nm
400 500 600 700

P40

0,0

   

1,0

   

2,0

HPE_CIE02-Zapfen-Empfindlichkeit  y−max(λ)=1
s−02,1(λ)=B31x

−
02,1(λ)+B32y

−
02,1(λ)+B33z

−
02,1(λ)

B3j 0,000 0,000 1,000 (λ~445)
P40: Σs−02,1(λ)=13,79

x02,1=0,3799 y02,1=0,3764



EG060−3A A00

Wellenlänge λ /nm
400 500 600 700

A00

0,0

   

1,0

   

2,0

HPE_CIE02-Zapfen-Empfindlichkeit  y−max(λ)=1
s−02,1(λ)=B31x

−
02,1(λ)+B32y

−
02,1(λ)+B33z

−
02,1(λ)

B3j 0,000 0,000 1,000 (λ~445)
A00: Σs−02,1(λ)=7,96

x02,1=0,4474 y02,1=0,4073



EG060−3A E00

Wellenlänge λ /nm
400 500 600 700

E00

0,0

   

1,0

   

2,0

HPE_CIE02-Zapfen-Empfindlichkeit  y−max(λ)=1
s−02,1(λ)=B31x

−
02,1(λ)+B32y

−
02,1(λ)+B33z

−
02,1(λ)

B3j 0,000 0,000 1,000 (λ~445)
E00: Σs−02,1(λ)=21,37

x02,1=0,3332 y02,1=0,3332



EG060−3A C00

Wellenlänge λ /nm
400 500 600 700

C00

0,0

   

1,0

   

2,0

HPE_CIE02-Zapfen-Empfindlichkeit  y−max(λ)=1
s−02,1(λ)=B31x

−
02,1(λ)+B32y

−
02,1(λ)+B33z

−
02,1(λ)

B3j 0,000 0,000 1,000 (λ~445)
C00: Σs−02,1(λ)=23,82

x02,1=0,3100 y02,1=0,3161



EG060−3A P00

Wellenlänge λ /nm
400 500 600 700

P00

0,0

   

1,0

   

2,0

HPE_CIE02-Zapfen-Empfindlichkeit  y−max(λ)=1
s−02,1(λ)=B31x

−
02,1(λ)+B32y

−
02,1(λ)+B33z

−
02,1(λ)

B3j 0,000 0,000 1,000 (λ~445)
P00: Σs−02,1(λ)=17,48

x02,1=0,3604 y02,1=0,3531



EG060−3A Q00

Wellenlänge λ /nm
400 500 600 700

Q00

0,0

   

1,0

   

2,0

HPE_CIE02-Zapfen-Empfindlichkeit  y−max(λ)=1
s−02,1(λ)=B31x

−
02,1(λ)+B32y

−
02,1(λ)+B33z

−
02,1(λ)

B3j 0,000 0,000 1,000 (λ~445)
Q00:Σs−02,1(λ)=26,19

x02,1=0,3070 y02,1=0,3106


